Momentum and momentum conservation in collisions 
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AIM OF THE EXPERIMENT

The aim of this experiment is to help you investigate the momentum of a trolley during a collision.

YOU WILL NEED

Two trolleys, three light gates, a QED unit , a power supply, a runway, some plasticene and some leads.

WHAT TO DO

Part 1

Compensate the runway for friction and put trolley B half way down the runway with trolley A at the top. Set your QED unit to speed and the mask size to 1 cm.

Push trolley A down the runway so that it collides with trolley B. Notice that the spring is left sticking out of trolley B. Make sure that the light gates will record the correct speeds.

Use the QED unit to work out the velocity of each trolley before and after the collision.

Part 2

Put trolley B half way down the runway and trolley A at the top. Fix a soft lump of plasticene to each trolley. (the Velcro may do).

Push trolley A down the runway so that it collides with trolley B and sticks to it.

Use the QED unit to work out the velocity of trolley A before the collision and the velocity of the two trolleys after the collision.

Measure the mass of both trolleys.

MEASUREMENTS TO MAKE

For both parts of the experiment:

 Mass of trolley A
=
gm
 Mass of trolley B
=
gm
Velocity of trolley A before collision
=
m/s
Velocity of trolley B before collision
=
m/s
Velocity of trolley A after collision
=
m/s
Velocity of trolley B after collision
=
m/s
Total momentum before collision
=
gm m/s
Total momentum after collision
=
gm m/s


QUESTIONS
1. What were the main difficulties with your experiment?
2. Was the principle of conservation of momentum confirmed by the results?
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